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QUESTION 1

You have designed test cases to provide 100% statement and 100% decision coverage for the following fragment of
code.

if width > length then biggest_dimension = width else biggest_dimension = length end_if The following has been added
to the bottom of the code fragment above. print "Biggest dimension is " and biggest_dimension print "Width: " and width
print "Length: " and length How many more test cases are required?

A. One more test case will be required for 100 % decision coverage.

B. Two more test cases will be required for 100 % statement coverage, one of which will be used to provide 100%
decision coverage.

C. None, existing test cases can be used.
D. One more test case will be required for 100% statement coverage.

Correct Answer: C

QUESTION 2

With which of the following categories is a test comparator tool USUALLY associated?
A. Tool support for performance and monitoring.

B. Tool support for static testing.

C. Tool support for test execution and logging.

D. Tool support for the management of testing and tests.

Correct Answer: C

QUESTION 3

What determines the level of risk?

A. The cost of dealing with an adverse event if it occurs.

B. The probability that an adverse event will occur.

C. The amount of testing planned before release of a system.

D. The likelihood of an adverse event and the impact of the event.

Correct Answer: D

QUESTION 4

Latest BHO-004 Dumps | BH0-004 Practice Test | BHO-004 Study Guide 2/3


https://www.geekcert.com/bh0-004.html
https://www.geekcert.com/bh0-004.html
https://www.geekcert.com/bh0-004.html

VCE & PDF https://lwww.geekcert.com/bh0-004.html
2024 Latest geekcert BH0-004 PDF and VCE dumps Download

GeekCert.com

From a Testing perspective, what are the MAIN purposes of Configuration Management?:

i) Identifying the version of software under test. ii) Controlling the version of testware items. iii) Developing new testware
items. iv) Tracking changes to testware items. v) Analysing the need for new testware items.

A. i, ivand v.
B. ii, iii and iv.
C.iiiandiv.
D. i, iiiand v.

Correct Answer: C

QUESTION 5

Which of the following is a benefit of test independence?

A. It does not require familiarity with the code.

B. It is cheaper than using developers to test their own code.
C. It avoids author bias in defining effective tests.

D. Testers are better at finding defects than developers.

Correct Answer: C
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